


Question 1

The diagram shows two sides of a thombus 4ABCD.

1

(a) Write down the co-ordinates of 4. 1]
J
(b) Complete the thombus ABCD on the grid. (1]
Question 2
y=mx+tc
Find the value of y when m = =2, x =7 and ¢ = 3. (2]
Y=C-23¢-N-3
=+ -3
]
Question 3
The point 4 has co-ordinates (— 4, 6) and the point B has co-ordinates (7,-2). 3]

Calculate the length of the line 4B.

08”3"'“\}(-2—6)2 + €7+t
=.h85 > |86

Find the equation of the line passing through the points with co-ordinates (5, 9) and (-3, 13). [3]

1=2-9 y- 13- }{ Ca +3)

— —.—‘-
-3-5 2 :
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/ 0 4

The diagram shows the straight line, /, which passes through the points (0, 3) and (4, 11).

X

(a) Find the equation of line / in the form y = mx + c. B - 3 - ( 2 x )
M= ‘izj_l n-3 = 2

‘c—ljc;“ Y=2x473 3]

Y%

(b) Line p is perpendicular to line/.

Write down the gradient of line p. [1]

mx m -1
4
s . - |
Question 6 m, E
A (5, 23) and B (-2, 2) are two points.
(a) Find the co-ordinates of the midpoint of the line 4B. (2]
idooint §-2 23+¢ )
midpon T =
e o 2

- (3 23D
(b) Find the equation of the line 4B. 2 ) PR

m= P H-2=3(JL12)

o Wl g oL + 6+

2'23 _ <21 3 9‘833_-{-8

. Pl -
s c2-5 =5 ]
(c) Show that the point (3, 17) lies on the line 4B. [1]

y-= 3L 42
« |F -~ (313) liey on AB.

(3]

Question 7

Find the equation of the line passing through the points (0, —1) and (3, 5). (3]

ﬂ\‘s“'( ) (jl'l'-ZX

———';
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Question 8

(a) The two lines y = 2x + 8 and y = 2x — 12 intersect the x-axis at P and Q.

Work out the distance PQ. L g =0
1 4 2 l - ' 2 - 0 \
2248 < 0 — Oistance = 6-(-4)
Jz =Y )x:6 . l C)
g=0 y=0 : 2]
(b) Write down the equation of the line with gradient -4 passing through (0, 5).

n--4
y—ff’qk
S’. 'q-i(."’s 2]

(c) Find the equation of the line parallel to the line in part (b) passing through (5. 4).
L) some gr adcent

y-H4= -Y(x-3)
s - £20+H = —Yxt2 Y
~y= - Hxt29

(a) Find the co-ordinates of the midpoint of the line joining 4(—8, 3) and B(-2, —3).

mdpont = (827 33 )

Question 9

2 J 2 [2]
< ( '5 ) O _)
(b) The line y = 4x + ¢ passes through (2, 6). .
Find the value of c.
6-4C2)+c¢ [
E-8+c
G—? < 9 % q - Z
R X R
(c) The lines 5x =4y + 10 and 2y = kx — 4 are parallel.
Find the value of k. Y= & - £
9 9 2]

.k _
ys L 1

k.5 .
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Question 1

cO,7)

NOTTO
SCALE

A(1,3)

b

0 B(3.0)

The co-ordinates of 4, B and C are shown on the diagram, which is not to scale.

(a) Find the length of the line 4B.

lenghg =J(o-3)‘+ (3-1)%
3= 26

(b) Find the equation of the line AC. _
o 2.3 ' “le_l_ H—,?V_li(l.—l)
q § 2 Y » 2u 43
o o 03
Question 2 6_'"
5
N -

0 :
A(1, 3), B(4, 1) and C(6, 4) are shown on the diagram.

(b) Work out the equation of the line BC.
= Y-l L
m= 91 3 y-1*3G-4)
6-49 2 2 3
=3
L 2
(c) ABC forms a right-angled isosceles triangle of area 6.5 cm.

Calculate the length of 4B. The Mafhs Socie.l.y
h“ﬁ'hpr JO1-3* y-0t = Jig- 267

(3]

(2]
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Question 3

Find the length of the straight line from Q (=8, 1) to R (4, 6). [3]

1@\3"‘\% J(G’UL (Y+8)?
= IS

Question 4 4« A= (4 0)

‘;_
8- (5,3
2—
C=(M)

P J

0 ; 5 T T T T IA > X
The lines AB and CB intersect at B. 145 3 D

. -, [1]
(a) Find the co-ordinates of the midpoint of 4B. n"dpm AK - 1)
(b) Find the equation of the line CB. < C 6 ) I S-)
Y-3 [ .
"yt
«) B -—éx +4
Question 5
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The diagram shows the straight line which passes through the points (0, 1) and (3, 13).
Find the equation of the straight line. [3]

m=13-1 _ 12 _ |

3
g-’lv Hax
\j = "l)\"'\
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Question 6

1

o —_ (=} — [S]

#\
|
[>V]

(@) Using a straight edge and compasses only, construct the perpendicular bisector of 4B on the
diagram above. [2]

(b) Write down the co-ordinates of the midpoint of the line segment joining A(1, 8) to B(7, —4).

(1]
(4, 2)

(c) Find the equation of the line 48.

\/(-‘I~Y)‘f£-1—l)l 3]
£0 = 13492

"

Question 7
(a) The line y = 2x + 7 meets the y-axis at 4.

Ox=0

Write down the co-ordinates of 4.

9= (0,1 m

(b) A line parallel to y = 2x + 7 passes through B(0, 3). |

(1) Find the equation of this line.

m/, = 2
9,.3.. 2 x g = X €3 2]
J
(ii) C s the point on the line y = 2x + 1 where x = 2.

Find the co-ordinates of the midpoint of BC.

g-4¢= 5 (2,50 .

.. [ 2 +57Y) _ , The Maths Society
midwint - (£, ) - Cr, 49>
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Question 8

Find the equation of the straight line which passes through the points (0, 8) and (3, 2).

me 28 =6 y-8: 2x

s-0 S y- -2x 48
Question 1
The points (2, 5), (3, 3) and (%, 1) all lie in a straight line.
(a) Find the value of .

(b) Find the equation of the line.

me3S g gram2(xed)

-2 g~ -2x +9
Question 2 y
NOT TO
SCALE
4 d y=4
\ \g a5
S AN
2x+y=8 3x+y=18
(a) The line y = 4 meets the line 2x + y = 8 at the point 4. [1]
Find the co-ordinates of 4.
2 " f“' 7'8 ( 2 L' )
Xe2 J
(b) The line 3x + y = 18 meets the x axis at the point B. [

Find the co-ordinates of B. Ljnje 0

Y,
31‘ p (610)

() () Find the co-ordinates of the mid-point M of the line joining 4 to B. ]
( 2¢6 4y =(4,2)
L) L

(i1) Find the equation of the line through M parallel to 3x + y = 18.

y= - Ixel& 2]
ge2= -3 (x-Y4) The Maths Society

yz -1 tY

(3]

(1]

(3]
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Question 3

Find the length of the line joining the points A(— 4, 8) and B(—1,4).

lé’ng’fh'-

JC Y~ + (-l e0

Question 4

NOT TO
SCALE

The distance AB is 7 units.

(@) Write down the equation of the line through B which is parallel toy = 2x +3.

g-3-7--4 < 2x <Y
(0 -9 ]
(b) Find the co-ordinates of the point C where this line crosses the xaxis.
0~ Zx-4
9.

_1 ¢
Question 5 I~ 2 C?Jo)
The equation of a straight line can be written in the form 3x + 2y — 8 = 0.

(a) Rearrange this equation to make y the subject.

2(_.1 = ~S1+ 8

9= 324 &
(b) Write down the gradient of the line. 2
A
(c) Write down the co-ordinates of the point where the line crosses the y axis.
~Ix+8=0
-Ix = ~-§
JC e i
3

é
C j/cp

(2]

[2]

[1]

(1]

(1]
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Question 6
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0 m\ A

!

The line / passes through the points (10, 0) and (0, 8) as shown in the diagram.

() Find the gradient of the line as a fraction in its simplest form. (1]
m= § = i

-
-

(b) Write down the equation of the line parallel to / which passes through the origin. (1]
Y= -9 5
S

(¢) Find the equation of the line parallel to / which passes through the point (3, 1). (2]
Question 7 y
A
N

5 NOT TO
SCALE
[
0 10 y

(a) Calculate the gradient of the line /. 5
m 2 _.5— = ""—l [ ]
-0 2

(b) Write down the equation of the line /.

~Cc ~1I
R 2 2)
tion 8 -
Question (:’9 "x[. x +5

The straight line graph of y = 3x- 6 cuts the x-axis at 4 and the y-axis atB.
<0 Jee O [2]
(a) Find the coordinates of 4 and the coordinates of B.

2x-6=0 yz 30)-6= ’é
we 2 0 (9,"'6_) 2]

(b) Calculate the length of AB. Ac 2)0)

ﬁus‘"“ J(PG?:(Z)Z - 632

(¢) M is the mid-point of 4B.

Find the coordinates of M. The Maths SOCiefy]

midpnt (5,50 = (1,78
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Question 1 m:5

A line has gradient 5. N
M and N are two points on this line. -
M is the point (x, 8) and N is the point (k, 23).

Find an expression for x in terms of &.

Question 2 : -x:(6k -490-22)
Xz -5k 463

B NOTTO
SCALE

A is the point (-2, 0) and B is the point (0,4).

(a) Find the equation of the straight line joining 4 and B. [3]
m‘ﬁ— :2 3-0‘ 1’2("*2)
t2 Y = x+4Y
(b) Find the equation of the perpendicular bisector of AB. [4]

| '
(:j 2- -iC)C4')

z "'_l L
Find the Lquatlon of the line, perpendicular to the line 4B, which passes t*‘roug,h the point (0, 0).

Question3

A is the point (8, 3) and B is the point (12, 1).

(3]
, ,2
( 't ) < "J. M, < 2 % 2 2.7£
-9 2 £
)
: .
Question 4 \
+ 4 : 1 ' 4
N (€02)
9,
1
) '| N .‘ \AV X
(a) Find the equation of the line/. ms | =3 ..2
Give your answer in the form y = mx + c. ﬂ <
y=3*-2x ,y= ~2x+3
(b) A line perpendicular to the line / passes through the point (3, —1).
Find the equation of this line. ms J‘ [}J

5)+|‘—”‘ - é”‘& The Maths Society
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Question5 i

B
11 —
™1 3 3 4 5 & 71 &
Point 4 has co-ordinates (3, 6). [1]
(a) Write down the co-ordinates of point B.
1)
& 2]
(b) Find the gradient of the line AB. ‘ - 6 - S
m 4 L J —
3 “
(¢) Find the equation of the line that 03]
: . , Ml * 4 "
is perpendicular to the line AB A 5
and
» passes through the point (0, 2). S - 2 - i I
Question 1 o- ‘;{; +2
5 [6]

A is the point (4, 1) and B is the point (10, 15).
Find the equation of the perpendicular bisector of the line 4B.
. y+0Q 1413 \_ ? P
m‘d & c—— — &~ )
( Lo 2 J
v 6 I
Mz -3 - -3 (x-3D

-

Question 2 ‘:i" 1? % 4..34-&
2
Find the equation of the line that 9 - - _g * 4+ l '_

*  is perpendicular to the line y = 3x -1

and 1 [3]
*  passes through the point (7, 4). Mg 4 '3

g'q'«:-‘l- (x-%)

uestion3
Q 3 ] —-l L + ‘ q
3
Find the co-ordinates of the mid-point of the line joining the points 4(2, —5) and B(6, 9). (2]

‘ 26 _5+9
mdy=( =<5 ")
=(u,2)
The Maths Society
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Question4

A straight line passes through two points with co-ordinates (6, 8) and (0, 5).

Work out the equation of the line. S_ g
me =2 <X

66 -6

(3]

. 2
Question5 n~ortO y

SCALE y=2
/ y=mx+c
A/

”

A-=

z 2314‘1

The line y = mx + ¢ is parallel to the line ~ y =2x +4. -
The distance 4B is 6 units. X = 2

Find the value of m and the value of ¢T m = 2 LJ B = ’2 + 6 14]

g = 2(& "q)
3: 2)(;8

Question 6 ¥ - ?

i

NOT TO
SCALE

/%

7~

In the diagram, the line AC has equation 2x + 3y = 17 and the line 4B has equation 4x — y = 6.
The lines BC and AB intersect at B(1, —2).

~Yr &

The lines AC and BC intersect at C(4, 3). "9 L= l a - 2 A 3
« 13-22 yeHxr-6 U
(a) Use algebra to find the coordinates of the point 4. ‘j —

Ux-be 322 1 oy i@ ] -2
J / Yx « 95 ‘J"H({)’G

(b) Find the equation of the line BC. x = 2. s < q [3]
m-J%2 5 34-2:—._53:»5 ('is)"
-8 S Y The Maths Society
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Question 7

The points A(6,2) and B(8,5) lie on a straight line.

(a) Work out the gradient of this line. [1]
m- 2.9
&-6 2

(b) Work out the equation of the line, giving your answer in the form y = mx +c. [2]

y-2 = Sx-6)
2
8"%)& -g42
Y =%l -1

Question 1
A line joins the points A (-3, 8) and B(2,- 2).

(a) Find the co-ordinates of the midpoint of AB. : , [2]
-3+ §-2 ) N &)
— — K2
2 J 2 2)

(b) Find the equation of the line through 4 and B.
Give your answer in the form y = mx +c. [3]

m= -2-& Yy -8=-2Cx£3)
-.zji) 9 ‘:—2’_"6"P
- ’2 (1.', .-2,_ .'_2

——
(c) Another line is parallel to AB and passes tPEough the point (0, 7).

Write down the equation of this line. 2]

(d) Find the equation of the line perpendicular to 4B which passes through the point (1, 5).
Give your answer in the form ax+ by+ ¢ = 0 where a, b and ¢ are integers. [4]

m= 4

y= _Li .‘i The Maths Society
t

*
5 dx-y+9.0
% "O o 2 Ej 2
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Question

A line joins the points 4 (-2, —5) and B (4,13).

(a) Calculate the length AB. [3]

J (1365)%(y)" - 6Ji0 = 14, 13

«lq un ¥

(b) Find the equation of the line through 4 and B.
Give your answer in the form y = mx + c.

m: 845 48 +5-3(2+£2) (3]
Q+r T ° J = 30+ C¥-5S

(c) Another line is parallel to 4B and passes through the point (0, -5). 3.)\ -+ '

Write down the equation of this line. [2]
yges= I(2) g-=3»-95
(d) Find the equation of the perpendicular bisector ofAB. [5]

. -l 2-("1 -5 _
mys o mid= (0 £ (LW
Y= Foutd

Question 3 3
A line AB joins the points 4 (3, 4) and B (5,8). Y- —}13\ +\3
(a) Write down the co-ordinates of the midpoint of the line AB. 3
md - (3“5 ‘“3) (4, 6D
(b) Calculate the distance AB. [3]
J(P-q)",‘u’j’)’— z 2_£ UY\i‘(
(c) Find the equation of the line 4B. [3]
m= £-9 .9 .2 y - 82cys)

53 2 =2a -2

(d) A line perpendicular to 4B passes through the origin ¢ "md through the point (6, 7).
———

Find the value of r. mf '%— CQ)OD g . 'J_ 2 [3]
1
Question 4 Ye _‘{, 67= -%
(a) A straight line joins the points (-1, —4) and (3, 8).
(1)* Find the midpoint of this line. [2]
m\'d C ""3 ""q’@) :(I,?_)
¢ 2
(11) Find the equation of this line.
Give your answer in the form y=mx +c. [3]
+94 C(4)) .
ms: é’_. -2, 3 9‘” =J The Maths Society
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